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Question Number : 1 Question Id : 4771877491 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement regarding growth. development and
maturity of the child
HLBem S ilsiT susriFF, Gubur® wHnID WIHTFF unpyliu SsunTeT Fnhsn DS
SEMTL_1) 5.
Options :
Development refers to growth as well as behavipural changes

Gubur® sTsiTUS) susTi FFsH b FL SMSG LTHDSMS YLD HUSSDSHI.

1. ®
Growth refers to structural and psychological changes
SUETT F& 6TeTLIZI 2 (Fsu WTIMHDSmSULD 2 srailwsh wrhHmndens LD
SUSSDSI.

2.¢
Biological and environmental factors influence development
2 wilflws wHnb FHLpedlwsd HTremnflsst GUbUTL 136 STEHH5MD
T U (H5 515 5T DsT.

3. %

Maturation refers to the emergence of an organism’s genetic potential

WITFS srairugl 2 wiflarmssfisr wrusgms GCsTHDSmsSE HUSS DS



Question Number : 2 Question Id : 4771877492 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the Development Theories given under List-A with their basic aspects

given under List-B

suflens A- wilsit £1p GarHssiul_Hsirer Cubur’ H% CsriurBsst HUlSEs

ailglssmer auflens-B uiled GlarRSs0Ul HsTarsuDmlsr gL

Fn MISTETT (R GlUTHS5H1%.
List- A

auflsms - A
(Development)

(Suwbur®)
A)  Erikson's Psycho-Social i)

Development
sTiA& Feutlsir 2_smailiwisb-
Fpsaillws Gubur® —
B) Piaget's Cognitive Development 1)

UlwrGlgullsr gynlemt Guwur®
C) Carl Roger's Self Development 111 )

&rirsd Grreprlst st Guibur®

iv)

Choose the correct one

stiwraT aflsnLsnis 651565 HSS

Options :
A-in, B-iv, C-11

A-1, B-11, C-m

List —B
suflens =B
(Theme)
(CICEEN)
Depends on concrete and abstract

thinking abilities

BV T WM MILD &(Fsu
mlemsvullsorer Fbsemer

3 wspien wen L FTTHSH
Depends on experiential learning

&) sW) LiGw & &N MemaLF FIHBHH

Depends on universal ethical
principles

2_sussrrailiu 2mnblBEnls
Gl&TsiTeNHHMETF FTTHSHI.
Depends on the result of child

interaction with his sgeial
environment

BLHMD HMH] FAPHF
@Lpadlsh 2_pauT(HsusnSLi
CUTRIS 535



A-1v, B-1, C-n
3.¢

A-1m, B-iv, C

Question Number : 3 Question Id : 4771877493 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to Erik Erickson’s ‘Psycho-Social Development Theory'. a student of

Class IX 15 in this stage of crisis
6T TS Faflsir 2 arafliusy — Fepsallwsy Guwburl Hés Gsriuriigsirulyg 9
2 sugl uwllab wrenTsusit 3)(FS G0 ClB(HHS I ILTET BHlsmsy
Options :
Inmitiative Vs Gualt

wpsirelear@iy Vs hHm 2 swriey

1. %

Industry Vs Inferiority

Casriflst punF Vs smipsy wearliuTsitenLo
2. %

Autonomy Vs Shame

Sy flemin Vs Glaul" s o swri &4
3, %

Role Identity Vs Role confusion

uBE@ senrLflHse Vs uki@s @b
4.



Question Number : 4 Question Id : 4771877494 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the external factor. that influences Child

Development

Lilsireu Heussrsum Bls F1ohems susriFFullsy @HmsE H YnssTrsmt sTHiblaisrs

SemTL_1)| %
Options :

Physical environment

R eUilL s Glpsd
1.v
Hormones
ADTiGLDT6iT ST
2. ®
Intelligence
[ 6997 630T 1) 52
3. %

Emotional maturity

o _swTi &S (pFiit &
4. %



Question Number : 5 Question Id : 4771877495 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following identify those that are more helpful to teacher to provide
adequate learning experiences for every learner according to thier
individuality

LilsiTsumeusmmsum lsb spsublsurm sMEBurTlsr seaflssstenwsd sTHu 2w
sOMISSHauFsd) 2 Fab GuUTHLTET FHDL YMIUISNS HewL WITETLD

& T 0T 61 LD
A)  Ability grouping

Fuienin FTTHS &1 205560

B) Adjusting the curriculum

ss0all% S 1L SmsF FAOUMHSHIFH0
C) Adjusting the methods of teaching

sDUSSH60 pewmewwF FOOULBSHH60
D) Proper knowledge of the individual's potentialities

Satlwrerlsr g nms uHmlw Gurgiwrer sy
Choose the correct one:

sriwrsr aflsnLsmiwd C5iH65H55:

Options :
A B.C,D
1.¥
A, C.Donly
A .C.D w’ @b
2. %
B.C. D only
B.C.D w @b
3. %
A.B.Conly
A B.C @b



Question Number : 6 Question Id : 4771877496 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Saritha, a 12 years’ age girl, appeared and completed ‘Intermediate’ with A+
grade. This reflects that her
12 suw g Blemmbs FMisT steitm FAmiidl, BlswLFBlemsvsCsiallsd H6vbH1G6% TR
A+ sréens) Blupmmsit. & $TL_(HID &auEHsm LI Blsnsy
Options :
Chronological age 1s greater than Mental age

HTssuTenF suilgl Wwarsuilsns afl 955D

1. ®
Mental age is less than Chronological age
WSTaN Il STevsuilsns sulsns aill_& FHsnDey
2. %
Mental age is greater than Chronological age
LaTeU LS| STeVsuTlenF sulsnSallL 2 HlHb
3.9

No relation between Chronological and Mental age

HTe0UTsNF IS D@D WaTeHIIS NG THSHS BTy [Fsvemew



Question Number : 7 Question Id : 4771877497 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct sequence of stages of creative thinking
usmLULF FhFsmarullsT FTwTsT Uy Blame suflsnFsniu [3)smm S ranTs.
Options :
Preparation, Verification, Incubation, Illumination
- SWTTBlena, 2 NIFGFIUIS Blsns, 2 6T sustidSF Blemev, spafliay Blsmsy
Preparation, Incubation, Illumination, Verification

SWTTBlensy, 2 6T sustiFF Blemsv, spefiiey Blensy, 2 niFlGlFiiss Blansw

Verification, Preparation. Incubation, Illumination

2 MIFEFIISL Blemsv, SWTTBlemer, 2 6T susmiF&F Blamsv, psifiiea) Blema

Preparation. [llumination, Incubation. Verification

SIWTTHlens, sparflisy Blemsv, 2 6T susmi FF Blamav, 2 MiH G FISHs0 Blswsw



Question Number : 8 Question Id : 4771877498 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an example for primary reinforcement

LilsiTsu meusimsum mlsb spsitmy suspiLiGlLMFEIFIIsuSBI6D (LPSHETNIOILITETHI B6L6V.

Options :
Food

2 emTsY
1. %

Sleep
gn'eiaasm
2. %

Water

L. BT

Praize

urrm(h
4. ¢



Question Number : 9 Question Id : 4771877499 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As a teacher, which test do you use to assess the aptitude of vour students?
o Y FAfITTs 2 BIST WwrenTeuTHeisT BT L Ss05 gemailL sTH 55
Caiallsmert LwsiTu®B ST T H6T7?
Options :
Thematic Apperception Test

RS0 GluTpsrFTT peitarmleys Coiey/ GFrHemer

1. %
Army Alpha tests
B rramisu gy sour Gaiaysst /| CFrHsmear
2. %
Raven's Coloured Progressive Matrices
TTauswtl6iT susiment 1pmHEUTE @ sl
3. %

Finger Dexterity tests

allrsl BIemISHSS DeiT GFTHemer
4.



Question Number : 10 Question Id : 4771877500 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With respect to nature of the Head of the school. which among the following
lead to maladjustment, criticism among teachers and students?

sp(| usrsililsir Semsveuflsir Glurmiliilensr (& wsvilsnar)s & mSHls0 GlETsir (D
LilsiTeu Heusreun Blsv T 2 FArlwi wHmILD WwrenmTsuTHetsnL G

CuTrmSSLILUTLDHD BLSmS, alliFarssnF sulfl suFHsEHn?

Options :

3.

4,

Social adaptability and maturity

Fepsd Hpausd WHMID 1pFHTFSF

S
Participative leadership
LBl BlETsirEmlD Semevsmin
W
Authoritarian leadership
v 2,3&511 GUTSSTET SMaUsmLD
Self-confidence and positive approach
SerarUilssms wHmib GHiTswIosHD s Lpenm
®



Question Number : 11 Question Id : 4771877501 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which method iz more applicable to guide the student. who 1= facing the
problems like aggressiveness, anxiety, shyness, temper tantrums and poor
academic performance?

FanTenL_L1 GUTH G, HousNs) DsDsVSH] FF 2 0T 6y, ImdFF 2 _swliey, Higblrer
sTHU@ GaTu 2 smriey, LHNID CurFwrer ssval BlFwsFnb GuUTsTD
Ulrsssmemsenst sTHIT BB TsTSHLD TemTsuTsnaT sulfl HL S0 LS

GlUTHSSLTET (LpswD 6TH7
Options :
Cross- sectional method

BIEEG Claul B wsop

1. %
Casze Study method
ST 24116y LpsHD
2.9
Cumulative marks record
SIMsiT WA 6L LuFlsy
3. %

Introspection method

25CHTE G (H6T CFTHmarT) wpswm



Question Number : 12 Question Id : 4771877502 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to ‘Piaget’s Cognitive Development Theory'. the child exhibits this
at Pre-Operational stage

Hwrelgmuilsit g laysser suariFfls Cariuriiysr Uy M GHUEMS HaTH
wpeit GlFwsbur_{ Blsmeowilsh ST RIb Ly Hlewew

Options :

Logical thinking

Sitds THWTHF FAHSHS5H60

1. %
Conservation
spsiten DL CLgmHa0
2. %
Problem solving ability
FlEs560 FTHEHW Fwsenio
3. %

Egocentriam

" SHETairsUL LImm)



Question Number : 13 Question Id : 4771877503 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The changes in behaviour of an individual that occur by one of the following
factors does NOT fall in the category of learning
LilsiTsu(mib STTemflBsT spsiTHlsiT STTeMTONS sp(h HeoTWTsHLLD sTHU(HID BL 0S5
wrHmb FHHE SN0 susnswilsit H1p surTs)
Options :
Changes due to practice

Glrwsoupsmpuilswrmsd sFHUGID WrH LD

1. %

Changes due to experience

S LISUSFITT6) 67D LIRID LT HDLD
2. ®

Changes due to training

v Fullermsd sTHLRLD WTrHDID
3, #

Changes due to maturation
Pl FFuilarTsd eTHUEILD WwrHDLD
4.



Question Number : 14 Question Id : 4771877504 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following List-A with List-B regarding multiple intelligsence theory

U piewTsmrdlayd GEriuriig st Uy suflsns -A -ullsh 2 sitersupsnp suiflsms-B

— wilsb 2_sirsmeuN (B GluT(HHHS.

List - A List -B
suflens - A suflens - B
(Intelligence) (Association)
(mu s smr ileny) (@gmriy)
A) Spatial intelligence 1)  Social smart
Glsusifluy BiswTsnT a6y Feps 9 Dlsyd Fismip
B) Interperzonal intellizence 1) Picture smart
2 (H6 (53 615 T (Hsu Tl6iT [HiswTsnTAjlsy UL g Dleysd Fniemip
C) Intrapersonal intelligence m) Self smart
Feafl UL L 6p(heuTlsiT Hiswrsmnt ey S5 B D6y Fn T6MLD

Choose the correct one
FriwreT spsitswmd CHiH oS HESS:

Options :

A1, B3, 0-1
1.

A-i B-ii, C-in
2. %

A= Beg i
3. ¢

A-mi, B-n, C



Question Number : 15 Question Id : 4771877505 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT pair among the following
Lilsitsu meusrsuH s seupmrer Bsmemrsnits CHiH65H S5
Options :
Differential Aptitude Test - Wechsler

usvFm BriLF GFrsenat - Glsusvsor
1. ¢

Equally Appearing Interval Rating Scale - Thurstone

FowTHs Gararnib @)emL Glsusf] gsrail- HisL_sir

Client Centred Approach - Carl Rogers
S TIg H6MH WTETT 600U S s3] (HApsm N — HTi s Gﬂ'rrgﬂ'sﬁ}
3. %
Thematic Apperception Test - Murray & Morgan

5HS5H unDlw (psirery)) Fmsit GFrsemer — piGr & Guwrissir

: Yes Display



Question Number : 16 Question Id : 4771877506 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following theory is related to cognitive learning?

Ulsitaupio Gariur@ssfisd eThs spsitm M50 suldl SHDaNEHS
GETLTysnLwig?

Options :
Learning by Insight

2 sTl # sulfl $HMsL

Learning by Conditioning

955 Blmaounisssd sulfl SHmsb

Learning by Trial and Error

3 x PUSTDI uPlE SHDD

Imprinting

allsv i njley
4. %



Question Number : 17 Question Id : 4771877507 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

“An individual once conditioned to respond to a specific stimulus 1s made to

respond in the same way in response to other stimuli of similar nature”. The

above statement reflects this principle of classical conditioning

‘pm GOIUUL L FTeiTLaid@ p(h ST sTsusuTn HlsvBSe GlFSnrGrr

emsLl GUTsTD FrenTLa)ls @ 2G5 wsnnullsh Hievmised GlFuisumi”

GuphssnTL F DI 6ThHS iy sulfl 965 Bl wynssmsoll Lrgusdsfng.
Options :

Extinction

S YPBEBTL S0

Spontaneous recovery

SHedrestl WL Tl L5 6T BlL_Lpsh

Stimulus generalisation

HTenTL 60 GILITHISHLWTSSLD
3.9

Stimulus discrimination

SHTamL_6d LmE@ U
4, %



Question Number : 18 Question Id : 4771877508 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teachers and learners have to keep these view points in their mind for

seeking maximum positive transfer of learning.

2(H (PpswwTer ShHTwsnDd sNDsnsvd GleT(HdEs Gousinr (H 6T

sTRHTUTT&HULEUTH Y FAfwisehh sHEUTHD B)HSSE HHHH%meT

LD&UT 560 6% TeiTem Gausiar (HILD.

A) Identification of associations, similarities and dissimilarities among the
learning situations
GClaTLTyssnsr G aTmsTamS, SNHMs) @FHLsOls) 2 sTsm spUiLjsn en wjLb
WwHMILD PLriLsnip F)s0s0 THemS LD

B) Developing proper ideals and imbibing them to perform things in future
FHlwTeT FDSEHTemaT ausTTS5560 WHMID BsUDMD 2 _6iT6UTEISHF
GlFilisuBsiT suriilsvTs sTHITHTVSSHD BlFWsDLIL 6D

C) Building generalisations and making their use in further learning

ClUTHIMLITESSMSS S L snindH60 WNHNIWD Hsunsnnd GlHTi
5D Dslsh LwsTU B S5H15H60
Choose the correct one

FHWTST siTennd CoHTHLSHES

Options :

A 01115'

A, C bl_(pib
1.

B.C 0111}'

B. C w_ @b
2. %

A only

A B
3. %

A B.C



Question Number : 19 Question Id : 4771877509 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following which one comprises of personal events and experiences

associated with one's life

LilsiTsu HeusmmsuD Hlel sTHS PsITN p(HoU(HsDLIW sUTIpSMESHS BlHTLTLsmL_IL
SefILUL L BlSLPsY ST WNMILD 50 LISUEISN6TS 6% TeirL_S).

Note: For this question, discrepancy 1s found in

question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Rote memory

G BB plemsey

Semantic memory

GluTHemTem LD Blsnasy

Short-term memory

HDIFW HT60 Blemaey

Senszory memory

L{6VSIISWTT 6Y [Bl6W 6T 6Y



Question Number : 20 Question Id : 4771877510 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the techniques that may help the teacher to sustain metivation among
students in the classroom

2 suFGlusnpuilsh 2 siTsm WTenTsul Haflsit 2mEHHmE Blsws BNISHIuSD S
2 FANLMHES 2 Faud iyl 2 55 Hmar F)arn s ranTs.

A) Reward and Punishment

Glsuing WHMILD F6WTL_sm 6T
B) Success and Failure

Gleunm] wHmib GHmsvail
C)  Level of Aspiration

B|8UTEY Blsmsv
D) Child Centred Education

BHLHEHS LIS FHsal
Choose the correct one

Friwrer spsitennd CHinHolsHES

Options :

L v AB.CD
B.C.D only
B.C.D w @b

2. %

A.C.D only

A C.D w Hib
3. %

B,C Glll:v

B, C wi @b

4. %



Question Number : 21 Question Id : 4771877511 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The percentage of learnt material forgotten immediately after 20 minutes as

per the Ebbinghaus experiment

stUlsirsmsiy giisF Garssmariiulyg | sHms Glurmsnsr 20 Bl 55D 50
Un@ 2 Lergwrs wnkHGuUTHD el Sl

Options :

72%%0

4, %



Question Number : 22 Question Id : 4771877512 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Teacher taught the lesson without considering fatigue status of students to
complete the syllabus. Many of the students could not understand the lesson
due to fatigue. The Thorndike’s law of learning that 15 NOT followed by the
teacher here i3

@(h FATwi wrenrsutsaflsir GFTisy BlewmsvsnwLl UNDS HeusHaULILIL TLD6Y
uTL S S L FmS (Piyd G CHTHal (H UTL Sm5H sDHUSE DT
LDTemTsUT i 16D LsTTsd GFmiallsir STremrors 9bsL UTL SenSLI
Yiikg Glsmsirsr wpiywallsbensy. b5 o FfMwrrs desrupnliuLrs
STTeNTemL_SH 6T DML aflF)

Options :

Law of use

LwsTURSSHID ailF]

1. ®

Law of readiness

QY WwSSHlms0 ailz)
2.

Law of disuse

LsiTUHS ST el F
3, %

Law of effect

L allsmearsy silF]



Question Number : 23 Question Id : 4771877513 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the statement that DOES NOT support the concept of Vygotsky's
Constructivist Theory
o "ﬂ')‘ﬁl.Lﬂ . . G . A i .'-1.'."
smeuGarisdlullsit UL smwliys CHriurliysit $mSH15HF Frilsvsurs
FNemms CHiH65HES
Options :
Social interactions are basis to higher order mental processes

Feps B allsnarssr warliGUTSFlsiT 2 wiBlsnsvd S 2y LiLisnL

1. ®
Cultural factors influence cognitive development
ussTUTLE (R% STrewfls6r 9 nley sustiFFulled sTH55m5
eTH LI () 551 Fl 5T st
2. %
Learning is the product of association between stimulus and responses
HFNM6L 6TETLIGZ] FTETL 60 LHMILD FOBSVIE S BawGw Blaup
- Gyl Glsusfliumr®

Language plays a vital role in cognitive development

2 mlsy susmiFFuilsv Clorfl ppsAlwwrar uklE suslSHDFI.
4. %



Question Number : 24 Question Id : 4771877514 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Inclusive education includes the following children in the classroom
2 _srsmL_&& WS Ssvallirearg LlsTs(Hl FUubsnssensmiyh su@Lliusn piilsd
C#i551% Gl&HTsiTEHLD

A) Socially disadvantaged children

Feps Blemsoullsd UTHSSUUL L (§L06NSHSH 6T

B) Physically disabled children
2 &b Flwrsd urglssuul L / wrpnis Snerref &Lwbensssir

C) Academically differentiated children

sevalluflsy wrpIUL L HLYHenSHsiT
D) Mentally exceptional children

LSTHMmeY UTHSSIUL L (L0050 SH6T
Choose the correct one

FHwTaT spsitennsd CHTHESH 55

Options :
A BC 0111}.'
A B.C n@pw

B.C. D only

B.C.D wi_{b
2. %

A, C. D only

A, C.D w’ Hib

A B.C.,D
4. ¥



Question Number : 25 Question Id : 4771877515 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this model of inclusive education. the specially trained teacher moves from
one school to another and assists the differently abled children
2 _sirsmL_&&W Hsvall FTTHS @65 wrfll usTefluilst spm Amiiy uuilnh S
Gupp g FAflwi s usTerwilellHHH B)sirGlarT® UsTsrlsF GlFsiTm wWrHmS
SnaTTelS FYhenssEEHSFH 2 sallyrlsurt

Options :

Itinerant teaching model

AL afl® @)1 vwenfls G sHLSSH0 TSl
1.v¥

Resource model

SUIT PPSULD Lo TG
2. %

Ihstance learning model

GETEnEZTT $HMeD TS

Dual teaching model

B mEplemsr snLSH60 i



Question Number : 26 Question Id : 4771877516 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the statement that DOES NOT reflect the concept of self-concept
ST H55 UNDDIW $HSmS0 UrslusflssTs mnmns Csih6l50 55
Options :
Self-concept 1s the image of oneself

H6IT &(HHFH! sTHTUSI p(Hhsuen Tl upmlw b
1. %

Real self-concept reflects one’s actual perception of oneself

2 _SITEMLDILITET H6IT H(HHH 6@ (oY (HEML_ I (P60 LITET 6T66T6T &5 6m HLI

Urglusfissns

Differential Aptitude Tests measure the gap between real self and ideal
self
2 _SITEMLDILTET $65T H(HHH LNMID F6T Fevl FwHensL1 Lis STLILIL L

BT L& GFrsemearapsuld gsaunplsr FsnL Glausflsnw gsrssa0min
3.9

Ideal self-concept reflects the perception of what one should be

ool Fwnre H6iT HHSH THTLSHI sp(HsuT stOILg B)(HE55 Gausnr(Hib

6TsiTM) sTelTemTHem5 L1 LilrglusdlsSns
4. %



Question Number : 27 Question Id : 4771877517 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following method 1s suitable for teacher centric learning
LilsiTsu(BLb (pswmSHsilsD et Y F Mt swwwssHDalsHL 6IUTHSS LTS
Options :
Brain storming

FLOEMET & FdhH 6D

1. %
Demonstrations
@Fwsb aflsréssl
2.
Discussions
oxll6u T % B1 5 61T
3. %

Project works

spLUILISDL_LILJLT LIsuoT] 5 6iT



Question Number : 28 Question Id : 4771877518 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Co-operative learning helps the teacher to develop these among students

sn l_(HD6YS SHDs0 WwTenrauisailsnL_ G Faumsnm 2 HaurdFHasnE
Y FAUHSE 2 s s D3l
A) Group processing

& p GlFwsduTsE

B) Individual accountability

SautITsT GlUTmILIL s L enLo
C) Face to face interactions

CrmEsEH Gt [F)anLailsnarimTL_sd
D) Positive interdependence

@B eW DI TET spsiTMIS bl TeiT D Tar FTiL
Choosze the correct one

Friwrar spsitsnmnsd CH1H05MH 55

Options :
A, B.Donly
A B. D w’ b
1. %
A B,C 0111}'
- A B.C o puw
B.C. D only
B.C. D w @b
3. %
A.B.C; D)

4.



Question Number : 29 Question Id : 4771877519 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to this section of Right of Children to Free and Compulsory
Education (RTE) Act-2009. ‘No child shall be subjected to physical

punishment or mental harassment’

HUbmsHsT LTINS ssvall 2 flemins s SHlstuy (RTE) Act-2009, @ns0
Uirley TS (H GHLEMSULD 2 L 60 FHUTSHS Se0TlpSHLULL S Fn L TH B6Us0SH]
WaTT S ITSHE HSTYNISES Tl TH sTeTLIWSE (HDSS DS

Options :
Section-17

o a7

Section-16

Ulrlsy -16

Sectipn-19

y % Ufay-19

Section-18

ey -18



Question Number : 30 Question Id : 4771877520 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A teacher who got 1rritated by the comments of Headmaster showed her anger

on students in the classroom. This 1s an example for this defense mechanism

P(H SN IITHATIWHML I S HSSTL i S FATWT sTTFFVMLBH Y555
CarTussms suFGlusmmidlsh F6T WwrswmrsuiSeflL b ST HSmTT. 35 6Teksusms

SDHTUL BL GMFEHF 6T(HSHSSTL L T(HLD

Options :
Rationalisation

STrenTid &HLUlSH60

1. #

Displacement

@)L 06 LS
2. ¢

Projection

sTHMIL1 LI & 560
3. %

Compensation

T(hHHL_L 6D
4. %

Language I Tamil

Section Id : 477187238
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187378
Question Shuffling Allowed : Yes



Question Id : 4771877521 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)

GCarRssOul_HsTear usSlemils SauaTTsll Ly ss aflarrssens s
aflemL_wefl& Sayib:

SLO1pLI WENNINENE AL HEM VDS 5T 6TSIT M) GurmHpUuBiD
Fl.omau.sTETSTaTTT Fevdiens, wrpliurswmsslsy Umnbssut. sUPHTL HSE
summEYTHaI, S0 Fmusrsug suwglCGw B35 6B alletEsih sTeTsnb HTsma
2 smryLsit uFidlss GeustlilC @, MlepTHefsT SousTsamss SeuibHsul.
1868-gy1ib  gyeir®, OGlsrevsriodlug GsrvaglsTrssngss Csarrenrmwi
2 smrsnwwib Llsrewt #s056l5Tems, @empwerTi subluTmsr, af rGFriflunb
2 sl U Brsvssmsmiyd GlFbsmwwrst uFudlssit ysp GlsTewrmi.
9| FFHI LT BlsLaUTSH, S L snemd HedSHemD, BLFSSIT DTNV, @6TTLDEWT] 61 FsITLD
2B BITDHENETIYLD 6T B siTar T . BDTID suTFSLIYSSHLD (LpFSe0l s LT
RTS0SEMETILD 6T(LDF]SUTTIT .

9jsu(HeswL_IU SLOPLILIswTsnild SemTl GlufFlsusd urgifwrT, gsusnrs $mib
BL &S FHlareuissioret steirenibd B)swHE FAMwrTsslermi. gsisuwwb
Zlsui G RIAGWT UsdHBGHL SUD SDMIS SHSTT. B TFTRISSSTTTD,6lFsTener
wrpls sesprfluilsd sulip uswrysrrs Bluwlssoul Lri. Umng, Ulsrsv.
Csiallaib Csr&f Glunmi, FHouGsTenTtsSlsd supssnleprrss usniwrnml, 1884
2D g arys) YHSCHETLsmL 2 wigSlwsrm Baugwrs Bluwlflésiul Lrr.
STEWTSraTi sTHFH0 Uswil HOlerrepd FwH GFrHES0 UWILTES 5HS

SL_enL0WTH 6T

Sub questions

Question Number : 31 Question Id : 4771877522 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fl.omou.STEWTSTOTTT 6THS 2, &g st YHSCHTL sw_ 2 wii B FlsiTn

B3USwrs Blwblssiu’ Lri?
Options :

1868

1901

1864

1884
4.

Question Number : 32 Question Id : 4771877523 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

F.emeu. FTETSTaTTT TSI HIs) 6T

Options :

560506l 5Tem S

SL_Lememd H60l5516mD

2.

s TEFmflwin
3. %

BswDILsT T 5116 LT (HeiT
4. %

Question Number : 33 Question Id : 4771877524 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

91 spT HeiflsiT HousTHemsl GluNm F.omeu.sTEWTSTaTTT YHILSS5HTD

Options :
. GlsrsdsTiLilwib
1.

SL_Lememd H6055160D
2. ®

Qi aflarisi
3.\#25@ B aflarssiD

BLU_F53 TLOT6MnE)
4.%

Question Number : 34 Question Id : 4771877525 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Florsut 55wt steiTsnild FHsmip L SH wsur?
Options :

Gluffsusd urgfwmi
1. ¢



STGTSTeTTT

2. ®

o u

GFsrmsusn i
3, #

3)sw mweormi
4, ®

Question Number : 35 Question Id : 4771877526 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fl.omeu.STCLTSTarTisuPsSsPlEhTTa0 UsniwTHOlw @)L ib?
Options :

&HLLG S TemTLD
1.

WEAEAEE i T

2. %
u_!.'rlcj;u_';u T&UTLD
3. %
(5l Fsdrement
4, ®
Sub-Section Number : 2
Sub-Section Id : 477187379

Question Shuffling Allowed : Yes



Question Number : 36 Question Id : 4771877527 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

(psDemau LT (R 9| l3FHM6MTS BB TMTLS.

Options :
188

1. %

500
2. %

269

103

Question Number : 37 Question Id : 4771877528 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Mg nsHn wpunFiyL st G spsmsrs Gallliusmsd UnSE@Hw sTupssHsir

Options :

PP
1. ¢



Question Number : 38 Question Id : 4771877529 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Z.B)TTEBTITILSNTST 6ThS BTausaISHTS FTHSHIW sTEISL ailmzm GluHDTi?
Options :

FHlemL_
1. ®

CH TSI THSHI LD H6IT

2.9

Lilgparassir
3. %

LD T ILILD T 0T
4, %

Question Number : 39 Question Id : 4771877530 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
BAphasre F)snLBemesmend Caih o5 HHs.
Options :
[E.Ij: H_), EIH: F

1. ®

(1, 6, &, &
2. %

5, Ly o, Ger
3.¢¥

B)sv, 960, 9,



Question Number : 40 Question Id : 4771877531 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“SysiTYLD Y maiib 2 smi_SSTullsiT B)sUsuTIpSemS

LISHTLLD Lusnitb &1 - @ FelFinyeaflsd &)L bGlumnmysirar st
Options :

Gaunmiswio &) swf]
1. %

SHGPUCUDHD jewil
2. %

GlFrsuLilsiTeu(h Blemsv i ]
3. %

BIrsd Blsnm e
4. &

Question Number : 41 Question Id : 4771877532 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘GlupTst FHGIWwTIH Bredlsr gy fAflwi?

Options :

GlUTILEN S W TP T
1. %

HUCFST S 1psuTi
2.

LhHSHSTLpeUTT
3. %

GuwiTipsuri



Question Number : 42 Question Id : 4771877533 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
suTFs0ls0 L TewT BINUSHIHHILD
su(HHSTLSY Ffld G
@B50 Lysma
sTUILIg S B\5T(HSS BT6ST — sTeurll LITig sy
Options :

o 10T WEHsVsUT]
1. ¥

TTE2 DT & & TeuimL_6iT

2. &

Ll rdlsir
3. %

=], 5L0 BTLD
4, %

Question Number : 43 Question Id : 4771877534 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘BHHSND sTeiTsnd GlFTsvemsols LS5 sTupsIs FlawL_OiLz?

Options :

ST + 2_Fab

53l + YL
2. %

I + 2 Faylb
3 ¥ Sbal =1

263 t 2 Fab



Question Number : 44 Question Id : 4771877535 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘S0 allpBsI sTeiTD HTellsir o FAMwi?

Options :

&r@ﬁ?ﬁ'ﬂﬁb‘&'ﬁij_@m
1. %

Brr.U.Gegilsrsnsr

2.9

FbS T
3. %

&(m.6l.%
4. %

Question Number : 45 Question Id : 4771877536 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
‘@i Fed) sTedTeRld GlFmsvsllsiT Glum(wsiT?
Options :

H &ATLILD

NUEETY

_ms'l,"tm,rrﬂsq
3.

BH&TL_F
4.%



Question Number : 46 Question Id : 4771877537 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
'‘BUTHHSTS ST sTHTUSI 6THSS SlsnemTGwTH GlsTLTsmL w7
Options :

Gl Wil
 Quepgmer

SIS FlsnsmT

2. %

CBTFFS FHlememr
3. %

5 F b | GMEIT
4.%

Question Number : 47 Question Id : 4771877538 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HallsT 2 0 LIRSS T6T 6TiTLI)

Options :
GlFwiiur’ { allsnarsblsTii
1. %
sTSITsnm ailenarselsTiT
2. %
. o swriFFS GlsTLi
3.

GlFiiallsnars GlsTLi
4. &



Question Number : 48 Question Id : 4771877539 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘QUTLT @)TTET, SUTLT SeRTeNTT sTETM ST LHMETL LITT 515 FnM)I6UF]

Options :

- LITsD &) (LpsUsmLID S

LDTL] 68U (IpsUEMLLS)

2. %

HTs0 6 (1LpsUEHLDS)]
3. %

@)L su(psusmio
4.%

Question Number : 49 Question Id : 4771877540 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

£C GlaTHSSIUL HsiTar GFTnHsaflsy sTgh 2 uili$6sTL TS FHHDIwWs)sTn?

Options :

Ellb'!l"m'{_ﬁ‘.'
1. %



Question Number : 50 Question Id : 4771877541 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
QuUwiD usTULSSMES 6151ey GlFiis.
Options :
2 mi

FlsvLh

Question Number : 51 Question Id : 4771877542 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
B)smiIGH TouIg H6T 6THS TF WTsmUF CFiHHeui?
Options :

LIsU s
1. #
GEFpi

Gasmipi

I.II'I'(:'-&"&'I’L!]_UJI‘I"'



Question Number : 52 Question Id : 4771877543 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

FITEIL S SIH6T sTHSHMET susHSLILIHILD?

Options :
1. HA3l

sTL_(B
=40

BTSiTE

Question Number : 53 Question Id : 4771877544 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
yewri FAWlsTEUTSH ‘o FBL 0" eTsiTh flF] F1pEHTEmID THSF
RlFTsbsps L GluTHBSID?

Options :

Gl wsir
) ® (LpSHILDTLD
3 Gasuig

GBS sin)
4, %



Question Number : 54 Question Id : 4771877545 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
GleusiTuTeaysHTIL PsnF
Options :

@T_ﬁjaﬁﬁ gPEmF
1. =

gjﬁiwmsb PEMF
2. %

% .§|aaems'ﬂ PENF
3.

GlFriuGrems
4,

Question Number : 55 Question Id : 4771877546 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Thesis - stsitusNsTaw FIIWTHT HsMeLFLFTLMVS CHTHGH[HS5.
Options :

Flebreurid



Question Number : 56 Question Id : 4771877547 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
P 2 _Lsb FTih5 GlFwsilenars GlFilsusnFTu LS GauwTar 2 1 60 susriFFGw
sTeTLILI(pLD.
Options :

(BT &FF
1. v

WSS Blema

2. %

- r::usmi‘;_r;sb

&.Lrjpsu
4, %

Question Number : 57 Question Id : 4771877548 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Brruil M.srsGar sTE5mar susmss sHDsUSmary unn) aflers @A pri.
Options :
% 7

2.¥

4% 10



Question Number : 58 Question Id : 4771877549 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

STTS Hsvalld S L 1D WKL 6T GlSTLiLsnL_wig?

Options :
RGFT

1. #

. % Glamiumii

3 o ST H B -F 6T

sMIGeus Terh ST

Question Number : 59 Question Id : 4771877550 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

BT sTswsuTm fABFSFEnmb (How we Think ) stsirm mmellsir ey Fiflwii

Options :
. 0

2o TeiT ()
1.

o mevariy GFmi]
2. ®

eRGsm
3. %

YGrmelusd

4, %



Question Number : 60 Question Id : 4771877551 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
£aTehFsl sallnss GsTHUYSSsTS CHrush Lfls Glunpsut
Options :

o
=)

2. (msigemT e S B

uTrsl

2. %

9| railbst
3. %

& T i
4.«

Language I1 English

Section Id : 477187239
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187380

Question Shuffling Allowed : Yes



Question Id : 4771877552 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for each
guestion.

During the pre-independence era, Indian politician was almost non-existent.
He was given concrete identity and character by MK Gandhi. The social workers,
supporters and people from all walks of life joined Gandhiji for opposing the British
dominance over the Indian subcontinent. From these cadres, politicians of highest
calibre emerged. The reason of their political abilities and respectable status among
the Indian masses was their association with the greatest legend of their era Mahatma
Gandhi. Moreover, those leaders were pious to the core, knave, hardworking and ardent
practitioners of highest moralistic norms.

The masses adored these politicians of highest calibre and were prepared to
sacrifice their lives, property and sanity for the sake of the achievement of the sacred
objectives, which were defined by these true leaders of our nation. The leaders of yore
were the most respected people of society, the saviours of the nation. and role models

for the plebeian masses, whom they always tried to emulate.
Sub questions

Question Number : 61 Question Id : 4771877553 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main source of respect for the early Indian politicians among the masses is

their
Options :
wealth and power.
1. %

Western education.
2. #

assgciation with Mahatma Gandha.
3.9

positions in the British government.

Question Number : 62 Question Id : 4771877554 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What era is mainly discussed in the passage?

Options :

Pre-independence era
1.

Mughal-era
2. ®

Post-independence era
3 %

Modern era

Question Number : 63 Question Id : 4771877555 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following qualities was NOT attributed to the leaders?

Options :

Piousness
1. %

Deceitfulness
2.9

Hard work

High moral standards

4, %

Question Number : 64 Question Id : 4771877556 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does the expression 'leaders of the yore' refer to in the pasaage?

Options :



Leaders from foreign countries

1. #

Leaders during the pre-independence era
2. ¢

Leaders who collaborated with the British
3. %

Leaders of India's post-independence era
4, ®

Question Number : 65 Question Id : 4771877557 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What were the common people ready to give up for the leaders' cause?

Options :

Only their wealth
1. #

Only their personal freedom

Their future generations

Their hives, property and sanity
4. ¥

Sub-Section Number : 2
Sub-Section Id : 477187381
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771877558 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly sequences the following sentences.

A) He apologized sincerely for being rude.

)
B) Later, he felt guilty about his behaviour.
C) During the meeting, Mr George spoke harshly to his colleagues.
)

D) Everyone accepted his apology readily.

E) It was because of a minor misunderstanding among them.

Options :

E.C.B.A. D
1. %
C.E.B.A'D
2.¢
B.C.E, A, D
3. %
C.E.D.AB



Question Number : 67 Question Id : 4771877559 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct option with regard to correctness of the following sentences.
A: People rushed to find shelter from the storm.
B: Immediate action can helps reduce future disasters.
Options :
Only the Sentence A is correct.

1. ¢

Only the Sentence B is correct.

Both the Sentences A and B are correct.
3, %

Both the Sentences A and B are not correct.
4. %

Question Number : 68 Question Id : 4771877560 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“Despite being outsider, she was elected as chairperson of the
cominittee.”
Identify the suitable option to complete the sentence.

Options :

amn, a
1. ®

the, the
2. %

a, the

an. the
4.«



Question Number : 69 Question Id : 4771877561 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The police officer found a child in the hut.

Choose the option to complete the sentence.
Options :
frightenad

1. #®

frightend
2. ®

frighteaned
3, %

frightened
4.9 "

Question Number : 70 Question Id : 4771877562 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant sound in the word “vehicle™.

Options :



Question Number : 71 Question Id : 4771877563 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaningful sentence.

Options :

Vhat they expected was to begin at six the performance.
What they expected to begin at six the perf
1. *®

. What they expected was the performance to begin at six.

They expected was what the performance to begin at six.
3. %

What expected they was the performance to begin at the six.
4. %

Question Number : 72 Question Id : 4771877564 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I the order last week but the goods haven't turned up yet.

Choose the correct option to complete the sentence.

Options :

get gver
1. ®

sent off
2. ¥

finds out

glve in
4. ®



Question Number : 73 Question Id : 4771877565 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

She was the only person whose I could trust.

A B C D

Options :

D
1. ®

3.9

A

Question Number : 74 Question Id : 4771877566 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

He asked her. “Why didn’t you inform me about the change in schedule?”

Choose the appropriate reported sentence.
Options :

He asked her why she had not informed him about the change in

schedule.
1.

He asked her why didn’t she inform him about the change in schedule.

He asked her why she did not inform him about the change in schedule?

He asked her why has she not informed him about the changed

schedule.



Question Number : 75 Question Id : 4771877567 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He never acts so rudely,

Choose the correct option to complete the sentence.
Options :

L% don’t he

does he
2.9

doesn’t he

did he
4. %

Question Number : 76 Question Id : 4771877568 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct plural form of the word "phenomenon”,

Options :

phenomenas

phenomena

2.¥

phenomenon
3. %

phenomenae
4. %



Question Number : 77 Question Id : 4771877569 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the grammatically INCORRECT sentence.

Options :

When she entered the room. everyone was talking loudly.
1. ®

While he was watching TV. the phone rang.

After she finished the exam, she goes to the canteen.
3.9

By the time we arrived, the guests had already left.
4.%

Question Number : 78 Question Id : 4771877570 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She visits her hometown once 1n a blue moon.

Choose the meaning of the expression "once in a blue moon".

Options :

very rarely
1.

day by day
2. %

day after day
3. %

regularly
4. %



Question Number : 79 Question Id : 4771877571 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The hard work exhausted the men.

Which of the following correctly transforms the given sentence into the passive
volce?

Options :

The men have been exhausted with the hard work.

1. %
The men are exhausted with the hard work.
2. &
The men had been exhausted with the hard work.
3, #
The men were exhausted with the hard work.
4. <

Question Number : 80 Question Id : 4771877572 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

You will have realized by now that

Choose the correct option to complete the sentence.

Options :

I am quite seripus.

1.v

I have been quit serious.
2. %

I was quite serious.

I had been quite serious.



Question Number : 81 Question Id : 4771877573 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

There was a lot of conflict between him and her.
Identify the antonym for the word "conflict".
Options :

dispute
1. #

quarrel
2. ®

friction
3, #®

.'J.gI‘E‘ElIlE'IIT
4.

Question Number : 82 Question Id : 4771877574 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He was deeply affected the news of her departure.

Choose the correct option to complete the sentence.

Options :

of
1. #

oI
2. %

by
3. ¢

off



Question Number : 83 Question Id : 4771877575 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
At this juncture, 1t is impossible to say whether she will make a full recovery
or not.
Here the word “1mpossible” is a /an
Options :
verb

1. ®

adjective
2.9

1oun

adverb

Question Number : 84 Question Id : 4771877576 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The city we visited last summer was ineredibly beautiful.

Choose the correct option to complete the given sentence.

Options :

=
L% who
whose
2. &
whom
which

4.



Question Number : 85 Question Id : 4771877577 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the integration of LSRW gkills in

Communicative Language Teaching (CLTJ‘?

Options :

Practicing grammar rules in isolation
1. #

Developing language skills independently

i Using real-life contexts to enhance language skills
3.

Relying only on writing assignments
4.%

Question Number : 86 Question Id : 4771877578 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best distinguishes a method from an approach in

language teaching?

Options :

A method 1s broader than an approach.

1. %

An approach is a set of classroom activities.
2. ®

A method 1s the theoretical basis, while an approach 1s its application.
3, #

An approach is a theoretical viewpoint; a method is a practical plan for

implementation.
4.4



Question Number : 87 Question Id : 4771877579 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which activity helps best in reinforcing vocabulary in young learners?
Options :

Dictation
1. %

Grammar drills

3 ¥ Word games and picture associations

Writing reports on vocabulary
4. %

Question Number : 88 Question Id : 4771877580 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“During a courtroom trial, a juror listens to the defence attorney’s argument
to judge its logic and truth.” This type of listening 1s known as

Options :

Selective Listening

1. %

Discriminative Listening
2. ®

Critical Listening
3.9

Appreciative Listening



Question Number : 89 Question Id : 4771877581 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary aim of evaluation in English Language Teaching (ELT) 1s
Options :

to pass or fail the students based on their performance.

1. ®
to 1identify the learning difficulties of the students and improve
teaching.

2.¥
to rank students among other competitors.

3. %

to complete the svllabus and prepare the students for the next class.
P i prep

Question Number : 90 Question Id : 4771877582 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A psvcholinguistic barrier in learning Enghish refers to the
Options :

lack of playground.
1. #

poor classroom seating.
2. %

v fear of making mistakes.
3. -

familiarity with foreign culture.

4. %

Mathematics
Section Id : 477187240
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 30



Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187382
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4771877583 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the mean of the frequency distribution 1s 59.3 and } f;x; = 1429 + £, ¥ f; = 30,

then the value of 'k’ 1=
(H Bspolsusnr ursusilsr srram 59.3 srenflsd Y. f;x; = 1429 + k.Y f; = 30, stevfls0
'k’ @)sit Iy sTeTLIS)

Options :

L
o

3
1. ¢

200



Question Number : 92 Question Id : 4771877584 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If sec® +tan® =3 and 0° < @ < 90", then cos® =
secO +tan® = V3 wHmib 0° < @ < 90°, sTevfled cos O =

Options :

2
V3

1. ®

[



Question Number : 93 Question Id : 4771877585 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If A and B are any two finite sets such that n(A U B) = n(A) + n(B) , then

choose the correct relation between the sets A and B.

n(AUB) =n(A) +n(B) srsirpsurmy A wpmib B stsitusr stGssmid @) wpigsymi
HEMTEIHAT sTertls0) Lilsdrsu(fD Semmmisst A SFb B Sgwrer sflwrar 2_psnsus

CaTHesh55
Options :
A and B are equal sets
A wpmitb B Fo Hewrmissir
1. ®
A is subset of B

A stsitug) B-ullsir 2 1 sewrip

B is subset of A
. B stsirug A-ullsit 2 1" sewTid
3.
A and B are disjoint sets

A wpmib B srsiruer Glsul’ L T& HemTmISs6T
4. &



Question Number : 94 Question Id : 4771877586 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The coordinates of the point which divides the line segment joining the points
(—6,10) and (3, —8) 1n the ratio 2 : 7 internally lies in the quadrant
(—6,10) whmib (3, —8) gy s ysiraflssnar @) enenrs FHn CHTL_ [ SHisiTigsnsr
2:7 starp al#lz558)60 2 L ypwrs Ufl& @ s wmsarsl o) sniojLb
ST GHS
Options :
Quadrant [

I-sy1b Gamsbzs)

Quadrant II
II- 210 CasTsviz 3!

Quadrant ITI
III-ey10 GamsbLiH ]

Quadrant IV

IV-g b Garsbum S



Question Number : 95 Question Id : 4771877587 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2 _
If 0.65 = =, where p and q are co-primes, then ¢ — p =
q

0.65 = %’ @k p LHDID § STETUST FTTUST sTETSET sTaulls) § — P =

Options :

4. ¥

Question Number : 96 Question Id : 4771877588 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose an inconsistent pair of linear equations from the following.

@pBIsmwsunm ChTiwF FwsTuTL (R Corysmsrs GCl5May GlFis.

Options :
x+2y4+4=03x—-6y—2=20
1. %
5x —3y = —11,—15x + 9y = —33
2. ¥

3x + 4y = 11,9x + 12y = 33
3. %

2x -2y =13,9x+ 10y = 10
4. 2 3



Question Number : 97 Question Id : 4771877589 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Two dice are tossed simultaneously. then the probability that the sum of the
numbers appearing on the top of the dice 1s a prime number 1s

B/ ussnL_HsT PCr CHrHF0 2 (FLLLUBFI DS sTeufled (1ps LDFIILS 6l 65T
Fn (HB60 LIST sTewmemTTs () (HLILISNS T BSHLSHE

Options :
13
36

1. %

2. % 18

o1z
11
36

4. %

Question Number : 98 Question Id : 4771877590 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If sin® + cosec® = 2. then sin® @ + cosec® @ =
sin @ 4 cosec B = 2, srevflsv sin® 6 + cosec® @ =

Options :

4

1.v

L

2. %

14



Question Number : 99 Question Id : 4771877591 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The time taken for 74800 amount to T5556. if simple interest is calculated at

3., .
'6 Iffl'.“ pET annum 13

6 %}’E. 2sr(h) sul_lg 6f 553160 Hestlsul g sewrss HGuTgy F4800 g gy F5556
2% LTMIUSDF sTHSHIHEHTETEHL HTeL 26T

Options :

&

? vears 3 months

2 u(fLLD 3 DT SHEISH6T

2 years 4 months

2 su(pLLD 4 LT HEISHsT
2.9

2 yvears 6 months

3 % 2 auFLLD & WTHEIHsiT

2 vears § months

2 su(HL b 8 wrHBISsT
4. %



Question Number : 100 Question Id : 4771877592 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

12x Sytz 3

15}‘.2},—323
Options :
ax7
Ey7 26
l. = £
ay7z¢
sx7
2. ®
@)
3, % AL
4y7
5x7z8
4. &

Question Number : 101 Question Id : 4771877593 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of factors of 4560 1=

4560 3)sir sTrewtlSeilsiT 6TeuTswl | Sm S

Options :
20

40

19



Question Number : 102 Question Id : 4771877594 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The compound ratio of 2: 3 and 9: 16 1s equal to x : 64, then the value of 'x" 15
2:3wnpmub 9:16 -Bler =@ aflslsn X : 64 —5@HF FID sTeaflsL X -6iT WOFHILIL

Options :
1. % )

48

Question Number : 103 Question Id : 4771877595 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

From a circular thick paper of radius 20ecm, a sector with angle 216 is cut out
and its bounding radii are bent to form a cone, then the height of the cone (in
cm ) 18

20 QF.1f, sy rapsiter sp(F sul L suigsud GlHL 19 wTeT Sreilsdl HHH 2 16~ Csmemr
Zjsmay BlsTamTL sul" L & Garemrliu@ sl Glaul iy sTHSSULRSMSI. Gleul L O
sul_ L& Gamemrtl L@ S wilsit g mb B)enemrssul (B sp(F Fiby

2 (HeurssLLBFE NSl sterflsd Fwbiilsir 2 wrb (6)F.15 -sb)

Options :



Question Number : 104 Question Id : 4771877596 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements related to subsets of a set.
LilsiTeu (HLb 2 1" SemThiSsT BlSTLTUTET S DIHM6T 6uTHSHSa LD
A) P ={x:xisan odd natural number and 9 < x < 15},then the number of

subsets of set P 1s 16.
P = {x : x steirug phsnm F)wsd stemrssit bHmitb 9 << x < 15} 6T6nflsD SHemrid

P B)sir o I semrrisarlsT sTenrsmiBenas 16 oy @ib.
B) @ = {x:xisaletterin the word FOLLOW}. then the number of subsets of

set @ 18 16.
Q = {x : x eredrugy FOLLOW ersit suri Sswsuilsd 2_sirer sTpd 51 Ssir |,
staarlsl) Q (B)6iT 2 I HemTmisarsir sTenrentiSens 16 2 @Hib.
Choose the correct answer.
FlwTer s nsmnd G5 ay6lFiwus.
Options :
Both the statements A and B are true.

Fnmisst A wnmnib B @) rewm@in sflwrsars

1. %
Statement A 1s true and Statement B 1s false.
Fanml A Fflwurearg wHnib & Hn B ssuprears.
2. &
Statement A is false and Statement B is true.
DM A SeunTergl wHNID & OHn B sflwurears
3. ¢

Both the statements A and B are false.

FsOmisst A wpnib B @ rewhHib seunremsne.



Question Number : 105 Question Id : 4771877597 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: Vo : 1 1 ’ :
The diseriminant of the equation — — o 3, (20,2 )is
X X—
1 - - . - - - -
e = 3. (x#0, 2) 6T6HT D) FLOGHT LITL 19 63T S6iTemLD HTL_1g
X xX—

Options :

Question Number : 106 Question Id : 4771877598 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sum of odd natural numbers from 1 to 2025 1s

1 pssv 2025 susmT 2_dirsm spHewm (3 wish sTeRTH s ST Fn (R H6L
Options :

|« 10.20.100

, % 1022.121

s x 1024144

. 10,26.169



Question Number : 107 Question Id : 4771877599 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Chooze an INCORRECT statement from the following related to irrational
numbers.

alfl#lsupmT sTewm s GlFTLTUTsT LsiTsu (B & DMISEHT S6UDTT FnDsDDS
Csiey GlFils

Options :

5V2 — /8 =32
1. ®

(T WE) s (?+4m =14

2. %

(V5+5)’ -

3. ¢




Question Number : 108 Question Id : 4771877600 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In AXYZ, £X =55 and £Z = 50, then the sides of AXYZ in

ascending order of their lengths 1s

AXYZ, -0 £X =55 wmmub £Z = 50, stesflsv AXYZ (3)s5r LIS SmIS e 5T

56]1’[5'] 6T 6T M) 6u MlemFuwlls0

Options :

L XY, YZ ZX

YZ, ZX, XY

XY, ZX, YZ

ZX,YZ, XY



Question Number : 109 Question Id : 4771877601 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The median of set of 11 distinct observations is 13. If each of the largest 5

observations of the set 1s increased by 3. then the median of the new set

11 Gaupiur L 2 Hmy Cpréssosatlsit FemLplsmer 13, Wlas06uflu 5 spsublsurg
2 M ChrésaL s 3 a1 LiuBEIng sterflsd YFw 2 HmiGHrsHedlsir
B)snL_Blsmsv

Options :

1s increased by 3.

S g HlsflEsrLBF DS
1. #

1s three times of the original set.

Bl 2 mmiGnrssmeors Gursity 3 wL %G gFsNESna
2. ®

remains the same as that of the original set.

3 @ wrHol @svsurwsd @) masFLIm

is decreased by 3.

3 HmDSsLUILHSDS.
4.%



Question Number : 110 Question Id : 4771877602 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ABCD i1s a parallelogram with AB = 15 ecm, BC = 12 em and area of the
parallelogram is 90 cm?, then the perpendicular distance (in em) between its
longer sides 1s

ABCD sreitp @)smemrsrsslsv AB = 15 GlF.uf, BC = 12 GlF.1f whHmib o) s5eir

urtusrey 90 F.617.18, sTeaflsh FarwTar USSBISEHSH G Uul L BlFmHs5
BlsTsmsvsy gy samg (GlF.0.uflsd)

Options :



Question Number : 111 Question Id : 4771877603 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A bus travels 42km in 35 minutes. If the speed remains the same, then the

distance (in kilometers) the bus can travel in 6 hours is

2| CupHal 42#).16 srrdsms 30 BlSlL 5510 sLE£IDH. 2G5 Causszlsv
UGLKHBH 6 wemfl GEridlsh S ClsTemsvsy oy arsH F.10-50 (H.10.56fls0)
Options :

432

Question Number : 112 Question Id : 4771877604 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The volume of a cube is 216 cm?3, then the total surface area of the cube (in
sq.cm ) is
D (F HAT FHITHFH 60T Har glswey 2165ar6lF.15 sTauflsh gy Fer GloTds YmLUILITLLY

(Faur GlF.16.-6D)
Options :

.-
1. v 16

144
2. ®

64



Question Number : 113 Question Id : 4771877605 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An observer of height 1.68 meters 1s 19.32 meters away from a coconut tree of
height 21 meters, then the angle of elevation of the top of the tree from
observer's eye 1s

21 16 2 wrypswLw sF GlssrenaT wrizsls Fmbs 19.32 i Glsransvailst

2 _6irem p(f UTTsmauTertlsir 2 _wrib 1.68 W11 T sTedflsh Limismauwimemlsir
FenTsmt| DG LTSS 2 FFASGHWTear sTHDS GHTemrid

Options :

L% 30

[=}

2.ﬁ‘,,,45

3 % 60°

90"

4, %



Question Number : 114 Question Id : 4771877606 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If P is the set of all prime natural numbers. @ is the set of all even prime
natural numbers and R 1s the set of all odd prime natural numbers. then choose
the correct statement /s from the following.
P steirugl osmars 0 usT Flwsd sTemserist semrin, Q sT6iTUSH 9 smaTSH
BrisnL 0 usT Fwsd sTanmserisir semrd, R etsitug sphsmmi usm F)wsd
STEMT S 61T 65T HemTLh sTeutlev LilsiTou({ib FIILTAT Smmnil FDHmisanars Gsiay blFiis.
A) QNR=0
B) P=QUR
C) @ 1sa singleton set.

Q sTsTUZ (HIULIL HewTLD.

Choose the correct answer.

silwmer aflsnLsmiws Csiey BlFiuls.
Options :

A & B only
A & B wi_(ub

C {}lﬂy

- C " {Gib

A & Conly
A&k Cuwr

AB&C



Question Number : 115 Question Id : 4771877607 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Nature of mathematics reflects the following characteristics
semtHHF s Flwsourswg Llsireumn usrysemarts UlrglusfisSlmai.
A) A Science of abstraction

P(H F(HBS 9 Dlailisd

B) Based on logical reasoning and axioms

SitHEs FFwrer GlsTsrenss6r 9y liusmL wilsorarg
C) Based on Inductive and deductive reasoning

su(mall5560 LHMID ST DFHsD STTemT iglitsnluilsorars

D) Uncertainty in results

(p1g 8 SHeils BlFFWIDHD HsTEMLD

Choose the correct answer

sHiwrar aflsnLsnis Glsfay GlFils

Options :
A & B only
L« A & B wr_ (b

C & D only

Cé& D wr @
2. %

AB& C (}Illj;

A B& C wl@puw
3. ¢

D only

D o (Bib

4. %



Question Number : 116 Question Id : 4771877608 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a learner draws a figure appropriately as per the general statement of the
theorem. then the above act falls under the following teaching objective of

mathematics.

spust p@paT Gapnsslsr Gurss s pOPIHE THpUTI 26
UL SFlsmard FTILTS susnrSnmi steiflel G)bsF GlFwsvrears LilsTau(plb 6Th 55
semtH SDLISH0 CHTHSS5F 65T % Lpsu (HLD

Options :
Enowledge

9 lsy
1. %

Skaill

B ssr
2.

Understanding

L3560

Application

LI 65T L (& &) 6D
4. %



Question Number : 117 Question Id : 4771877609 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The changes that occur in the Teaching learning process as per the present
curriculum frame work 1s/are

SHEUTMHIS SMVSHILL_ 2 (FaUTESSHT Ly SNHDsD $MLISSH60

GlFwellsd sTHUMRSSUILILT L WTHMLD sTETLIS)

A)  Emphasis on Learner centered Education.

sHEUTT sIWWTHES BSTTL Ssvalld @ (PSIIHFHIULD F(FH0
B) Believes that the knowledge 1s static and has to be taught only by the

teacher,
9 Mlay sTETUZI BlsmavwTargl. LHMID Hensd 2 FTwrmsd w HGw
snUlss Fwsiw sTsitn HLouiuBE DS

) Believes that learner can construct the knowledge and creates the
knowledge.
sHEUTET 9 Plemeusd SL_Lsninds WHMID 2 (HUTHS (iUl sTeTm)

BLOUOUBS DS

D) Teacher facilitates, encourages and assist the learner to foster active
learning.
GlFwed sulfld sHMemsy alsTTUIUSD @ 2 F Thui SHLHS G auFHHener

THUDSSISD, 2505 Gall5560 LHYID 2 55 Hsb.

Choose the correct answer

Fsriwrer aflsnLsnwsd Gs51sy GlFis

Options :
A & B only
Aé& B w_fib
1. %

A, C & Donly

A C&Duwlpo
2.9

A, B& Conly
A B& C @



D only

4 % D R

Question Number : 118 Question Id : 4771877610 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Following is NOT the characteristic of good mathematics text book.
LilsiTsu HsuSlsd HeLsv SemilSLll LUTL L LS555F]6T LIsHTUTSTSHSHI
Options :
Content should be organized creating a balance between logical and
psvchological aspects.

Hids THwTsr wHMID 2 srallwsh FHTar HbFbisensEH B Gw
2(H FLD BleMeVsIL 2 (/U TS FHLD GlurmL (B GlUur(HerL_s51D

PUBEGHUURSSU UL HSGLD.

Connecting mathematical concepts to real world applications.

Foml 55 5(HSHSSHM6T B2 2 5L LWsSTUTL (HLsT &) sments Hab
2. %

Well graded exercises.

BsiTE Sruufssuur L uwilhFssir

Over reliance on abstract language

FmHs clwrflullsr WsTear 9515 BloLlsmns
4.

: Yes Display



Question Number : 119 Question Id : 4771877611 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following assessment tool i3 NOT considered as a part of formative

assessment.

susTrm] ST 1967 §F UGS TS0 LlsTaumhd wHOLTE (S Hmailwrers)
% (HBLILILailssme.
Options :

Portfolio

Qumi_GuraflGumr (Portfolio)

1. %
Projects
GlFwsv Bl L 1b
2. ®
Assignments
?}ll_'.ILIﬁ'E)I_IJLIISEE'iI'
3, #

Semester Examination

L LhHeus G5ieyssir



Question Number : 120 Question Id : 4771877612 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The unit plan in the mathematics subject helps the teacher
FemiSL UTL $F60 9s0FH5H/L_L oTegl 9, F 1SS sTeusuTnl 2SS D5l
Al To get an overview of the contents in the unit.

P(H VI 2 665555 661 el iflsuTer HevrGemrTi_ L SsmBLl

CunIEDH S
B)  To know the requirement of periods to complete the unit.

b3 B eUBlenaT (WPIlILsNHS CHmauwTam UTL GsusnsTHansTd
C5fbg CaTerasn s

C} Gives an idea which unit has to be dealt 1in which month.

6ThS LTH55 M 6ThS 60(F sTeaiTh) CWTFenarsnil sULpE 605D (5

D) To transact the lesson for a specific day
2m GUUUL L srepssTear uTL SFlsnarll uflsutsssmar GlFilsusnE
Choose the correct answer
Friwrer ailsnLsniws Gaflay Glxiis
Options :
A & B only
A& B w_fib

C & D only

C & D w”_pub
2. %
AB&C only
A B& C w b
3. %

A, C& Donly
4 % AC&Duw @

Science
Section Id : 477187241
Section Number : 5
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187383
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 4771877613 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement among the following.
LilsiTsu (HeusisuH mIsiT FTIWTET FaPHeND 2j6HLIUTETLD &HT60T 5.
Options :
The force of buoyancy is the reason for an immersed body to appear light.

epip &l HS @ sp(h GluTHeilsh spsifll CHTHTMISNIS & B S6T WISLIY FEI)
STTsWTOTS (3 HHF DS
1. ¢

Relative density has units to measure.

SUULTHSemIL eTUILSDEH Bje0&HS6T B) HF siTmer
2. %

Heavier body floats.

SameTer GlUTmHsiT 155 @D

Hydraulic jack is an application of Bernoulli's principle.

9135 slsmFwL_sT LT Flrew BDHDsWOLT LUsTURS S
Bussuu@n b TSSlsT LwsiTipsnn Gluisitsusvslluflsir

4 % (6155 T6iT 61 S T (FH1LD.



Question Number : 122 Question Id : 4771877614 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the ‘correct quantum number set” for the outer most electron in Na

Na @)ev Glsusfliiym 0% eTeSL_TTenIS5 S Teor " FIIWT6IT (F6UT6uTL_LD 67607

G‘ure_r;,'r@ﬂmu‘ Eﬂ);m:_u_ln'smi:u dsn'em":rrsqu::,
Options :

n=3,1=0m =0,m, =§

1. ¢
1
n=21=1m==1m, =~
2. % .
1
n=21l=1m; =1,m; =
3. %
1
n=3,1=1m;=0m, =i



Question Number : 123 Question Id : 4771877615 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A FALSE statement about refraction of hight 1s
Qell5 5B 16T sparfailssms0r UNDIL SOUDTT FnHII
Options :

Velocity of light 15 more in rarer medium.

S MSTar 2ar_555s0 spafilsir Gousid & FHSID

1. %
Angle of incidence /refraction more in rarer medium.
S fsTar ea_s5560 UDpFFEGCsTants Sl sparf] allsvsed sir
UHGsTewTD 9SS0
2. %
Velocity of light 1s less in denser medium.
SLT1ilg 255360 spaiflwilsir Gsusid FHemmey
3. %

Angle of incidence /refraction 1s less In rarer medium.

g fsTer ear_s53s0 LppFfls Carantsglsr [ spafl allsussllst Gsmsmrib
e



Question Number : 124 Question Id : 4771877616 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The true statement from the following.
LilsiTsu (Heusmeum Wlsb FTIWTaT S HDI.
Options :
The loudness of normal conversation 1s about 20dB.

Blwsburer HSFLUTLTHDSS T GUTgsTar spall 2 Uil TDSHswDIL
20dB.

1. #®

The shrillness of sound 1s amplitude.

FFFMID F5510 eTsiTLF swsvall Herid (spsl] af F5) sTariu(Hih

Vocal cords close when we speak.

BT GUaHDEUTHI (HTs0eusnsT BHTewT L (Hib.
3.

Sound can travel in vacuum.

4% Glaun L5 Flsv sl Lwenil$Ss (piguib



Question Number : 125 Question Id : 4771877617 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
VSEPR Theory mainly fails to explain

Glsusioup Camiur® wsFwwrs aflsms@HausnHs Ssunail(Hib
Options :

Space occupied by electron pair

leiTeen) (B)smsmriimsd Blrour L @ 1b

Bond angle

UlsmemriiLd G remrid
2. %

Strength of bond

Lsmemri st usolh
3. ¢

Molecular shape

. rggpsuésain_gj qu_sm_b
4.



Question Number : 126 Question Id : 4771877618 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The force of attraction between any two universal objects is INDEPENDENT
of
@m e_svssraili GlUTHLSssm LG 2emBFITsT FiliY FhHHTaTH
SIS FWEIGMUSDS
Options :
Distance between objects

@) rewr(R) GlUTHLHEHSSlsnL_GunUTeT FTrib

1. #
Mass of objects
GlLT(HL_S6iT 65T Gl T (HsuTem LD
2. &
Universal Gravitation constant
2 suserrallw Filiy wrylsd)
3, #

Orientation of objects

GlUT(RL_S6ITsiT FlemFIIsMIDLIL
4.



Question Number : 127 Question Id : 4771877619 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A 60W bulb consumes “x” J of energy when connected to an electric source of
120V. The amount of energy consumed by the same bulb when connected to
source of 240V 1s
120V lsit epavsgls 60W Wlsirailsrsans 3 snemrdsmsd o5 X'J FéSlemwil

vwsituBSHin. 240V st apsvsFlst 291G Wstallsnsms F)ememTsSTs0 95
LwsiTUBHSHID 6T F&I]

Options :
L% 2x
=il
2
2. ®
4x J
3.¢
e |



Question Number : 128 Question Id : 4771877620 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A coin 1s kept under a glass slab of refractive index 1.52. It appears to be

shifted vertically by 0.7cm. Then the thickness of the glass slab 1=
spaif] alevssy stevor 1.52. 2_siremr 5 SemmenTTig ) LsVsnS Wl £1p BTswTIILD

smeudSLILL 13 HSE DS 9F 0.7 Gx.1f. GlFmigssTs vrfullFLLSTSS
CarsirmiF mal. Uiy GlsiTnTsd 2 H55 SeTenTTIyLl LIsVsnS IilsiT Flg LosiT

Options :
2.0cm
2.0 QF.uf.
1.
1.5 cm
1.5 GlF.f.
2. %
2.5 cm
2.5 QF.b.
3. %
1.0 em
1.0 Q&.41f.

4, %



Question Number : 129 Question Id : 4771877621 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following.

GluTHS5aLD.
Setl Set Il
CsrEa | GCsTEas!
A) Nylon 1)  Wrinkle free
1 [B6V T&iT FHBHLD BF)00TH
B) Rayon ii) Diapers
Gl rwmsT L wii
C) Aecrylic i) Fishing net
& 51605 LA 6T susma)
D) Polyester iv) Carpet
ursdlwsiL_i S LD LISITLD

Choose the correct answer:
sriwrar aflsnL_sniw Gl5flay GlFis:

Options :

A-m, B-11. C-1v, D1
1.¥

A-m, B-u, C-1, D-iv

2. %

A-1ii, B-iv, C-1, D-11
3. %

A-n. B-1. C-1v, D-m

: MCQ Option Shuffling : Yes Display



Question Number : 130 Question Id : 4771877622 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The true statement among the following
Lil 55T 52 (H6u s3Tsu D W1 6V)] 6T 6T 2605760 LD Fn D M)
Options :
Smelting carried out in Reverberatory furnace.

LB gjsmsd 2_smsvullsh 2 Gaurssmsl UMNS06lsHE 0 Lisnt]

BenL_GlLIMILD.
1. ®
Roasting carried out in absence of air.
sTHm B)sveors GuTH sunSHsL HewL_GlLmILD
2. ®
Ca0 1= obtained by adopting Calecination.
BEnmissner Gunblsrsrsusrsy Cal e saln5
3.9

Distillation 1s a method of purification of high boiling metals.

HTLFF aulg S [HF60 (PswDILITTH 95 % blsTH Blemsoullsy F)ms b
2 GouTsSmBF FH5SULMSHNSDSTFHLD.



Question Number : 131 Question Id : 4771877623 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The substance which i1s NOT treated as an electric conductor among the
following
LilsiTsu (Heusmsum Wish 6T SL_SFWTHS SHSIUL TS GlLT(Heir sTH?
Options :
Mercury

UTHTFLD
1. %

Bismuth

Ulsroes
2.9

Graphite

Srfwsl (Frrsou’)

Sodium

GFrigwib



Question Number : 132 Question Id : 4771877624 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The coefficient of O in the balanced chemical equation of burning Propane

sTflyb Bmwnn surwsilsir (Propane) suplamsouilsorsr Gsugluiluwisd
Fwsituri_igs0 Oz @)eir Glsap

Options :

1. %

Question Number : 133 Question Id : 4771877625 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In plants, this part of a flower develops into a fruit after fertilization

STeUTBIS6TsD, LLSHarsr B0 UGS SmeynnsnEu Ulstsmt uprs
LT EA T

Options :
Embrvo
& *0
Embrvo Sac
. % FH(HLIsMLI
Ovary
(M am L
\g}
Ovule

4 x O%



Question Number : 134 Question Id : 4771877626 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the cell organelles that are found in both Prokaryotic and Eukaryotic

cells

YerrsrfiGurigsd GlFs wHmib ysrfGuriys eyshw ) e[
GlFsusaflspipsiter 2 uilrem 2 NILILSMET 9sHL_IITSTLD &TeTsyLD

Options :

Ribosomes

smrEurGFTibHsT
1.v

Mitochondria

sl GLrsranriefur [2_wilran ey nmsb miswrsmmiiy]

Plastids

Ulsrmsivig " siv [5emflsmkissir]

Endoplasmic Reticulum

stanrGLrLlsmmsvdls GIriig @Hevib [sFFTHm susmsoriLilsiTemsi]



Question Number : 135 Question Id : 4771877627 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fixed joints are present in this part of human body
weills 2 1L sflsr @Bs0 uGSuilsy genFwur apl ® B msSnsl

Options :
Pectoral girdle

DTN L] 616 EITa]

Pelvie girdle

5 % BBy susnsTey

Slull

3 asTsm L $p(h)

Backbgne

p3IClHa DL



Question Number : 136 Question Id : 4771877628 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following sentences and identify the correct answer

LilsiTsu (HLD suTSAIWBISMeTL UG SH FTIWTT aflsnL_Hemsm 2 sm L WTETLD
& IT 63T 61 LD
A)  The plants with tap root system have leaves with parallel venation

<601 Bsui 2_6iTem STeuTmISsH 6T ()M 601LsM LD6Y
B)smemTFF emTIen OLIL|STeTS TS [3)(HSH DHI
B) The plants with fibrous roots have leaves with reticulate venation
Fee0lGout 2_siTemr $TeurBISaisiT (F)smaiisnioliL] susms)
BT LD LILSTeTSTS ) (BB DS
Options :

‘Sentence — A’ 1s correct, ‘Sentence — B’ 1s incorrect

‘A’ sflwrer sursFwip, ‘B’ ssuprer sursslwin

1. %
‘Sentence — A’ 1s incorrect, ‘Sentence — B’ 1s correct
‘A’ sauprer sursSlwib, ‘B’ sflwrer surs#hwib
2. %
Both the sentences are correct
@) reu(h) suTHH WBISHEHLD F1ILT6oTsm 6
3.

Both the sentences are incorrect

4 BreuT(h) 6uTdhH IBIHEHLD F6u D T6HTm 6



Question Number : 137 Question Id : 4771877629 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the process of cutting the Woolen fleece of a sheep from the following

Lilsirsu meusrsum Klefl(Hibg GlFbwnl @, (& shusilsnius 5515 EHL0D
GlFwsLpsmMMIL BSHDL_IITETLD &T60TeYLD

Options :
Scouring
Cxiid 60
1. ®
Shearing
Glsul’ (hiFed
2. ¢
Stifling
Bl g 5560
3. %
S{}l’ting
suiflsm FLILI (R H Hv

4, %



Question Number : 138 Question Id : 4771877630 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the plant that stores food materials in stem
H6IT1Y 61 2600 smeU & G&"‘rg'g,j emeUH FHLD HTeUTHMSB GeNL_WTSND HTL_L_sib
Options :
Potato
2 _(HEW6T&H P LPEI G
1.
Sweet potato

Fit % Hm TousiTaf S5 pBiF

2. &
Carrot

3 % Gsrl
Raddish
(LpsiT 61T 51 5]

4. %



Question Number : 139 Question Id : 4771877631 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the phyla that are known for having an open circulatory system.

FDHS wHDIW apiyw FHEOTL L gysnwliysTarsTs Holwiiu@n @)ars
GlsTEHSlemi

S SML_WTETD HTL_L_&Lb.
A)  Annelida

G amET HenFLIL (LD

B) Arthropoda

%6091 %5 T 60 % 61T

C} Mopllusea

Glssp L s8l%siT
D) Echinodermata

L GHrapL_s0lssiT
Choose the correct answer:
sHiwrar aflsnLsniug GlsMley GlFuinuayb:
Options
A & B only
- A & B @b
B & Conly
» v B& Cur @b

A & Donly

A& D wr G

A.B& D only
A Bé& D w b



Question Number : 140 Question Id : 4771877632 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Diatom’ 1z a/an
LwC L' (@ rssotiurd) ssirug)
Options :
Protozoan

wpssrsmuilf (Srm_GLrGamsur)

1. %
Fungus
6 F
5 % LL6h
Bacterium
59T sy il
3, %
Alga
ur#

4.



Question Number : 141 Question Id : 4771877633 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the hormone that 1z secreted in both male and female humans

=y s st wHmie Glusirsst G mursoflsnL_Guw &1l apriGwrsnsr
BsHL_WTSTLD &% TevarLiléseyLb

Options :
Follicle stimulating hormone

| ¢ @6 grav® FuseBsT

Testosterone

) w B Fwshe B

QOestrogen

GCluenTentlsr FwHHB T

Progesteron

H{UsmU BwdsE B
4.%



Question Number : 142 Question Id : 4771877634 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following gas in the normal atmosphere 1s in much smaller
quantities?

LilsiTsu (HeusmsuM MIsiT FTHTTs0T susiOaTL 0SS0 WHaylh FHMNBES osTailsd
6THS T &TewriiL(hib
Options :



Question Number : 143 Question Id : 4771877635 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following animal is listed in *endangered list™?
LilsiTsu (HeusmsuDMIsT 6THS allsvm @ ouflbsisu D L igwsdlsd @)L ib
GupplmEsns?
Options :
Asiatic lion

- o Fw FBsb

Kangaroo

5E5W@
2. %

Desert fox
LI Tsm 806U 6aT 51T
3, ®
Pigeon

yor
4. %



Question Number : 144 Question Id : 4771877636 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Tracheal Respiratory system is present in this organism

A3 2 wWflarsslsh apFsis LT Furs ymwliy B msHng.

Options :
Fish
L5 siT
1. %
Frog
) % 561 6M 61T
Earthworm
3 % LoswaTL (Lp
Cockroach

STUUTST LFF

4.



Question Number : 145 Question Id : 4771877637 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ravi, a Physical Science teacher. applied alcohol on a student’s hand and
asked him to observe and describe the sensation. He repeated the process with
spirit and petrol. The student reported a cooling effect each time. Based on
this, identify what teaching method 1s the teacher using.

BAupilwsy g FAfwir rall eyosaprensy wremTsusysnL W sl Csuiss
eTUILILILL L 2 swTiey sIHUBSE DS sTeorm allsufldsssd GlFrsirarmi. sui
Bbss OGFwsbpammsniy gsvsapremsown BlUr Grrsneowyn  LwsTUB S S F
GlFiws FmplarTi. subluTf (PsHDU|D WTENTEUT H6T (FEHSHLIDIITST 2 s0T 6y
THUBUSTSES FmDleorr. @Fer guyrusnuilsy yFfflwut sH55 sHLUSH0

(psm DD LWSTUBSSSTTT THTLMS BsHL_ILTETD STL_(HS.

Options :

Deductive method

| x Sgleigpmp

Inductive method

sl glallerds pemm
2.¢

Lecture method

aflfleyswr pswm

Heuristic method

S TTIESF (1pswm



Question Number : 146 Question Id : 4771877638 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following learning experiences i= NOT categorised in Edgar
Dale’s cone of experience?
UleTsu(pl SNM6D SsmILISUBISSHET sTH oTL ST GLsllenfsdT Byemilisud FnlbL]
sTsitn Gxrssmarullsr £1p susnslufS500ULallsDsnsy?
Options :
Direct purposeful experience

GCETy CHTESD ClHTaiTL &jsmlLisuLD

1. ®
Contrived experience
SIL LB Oul L gyspiLisuLD
2. %
Dramatized experience
BTL_&% S su)]LialD
3. %

Vicarious experience

9| ST EMLDBI6ME0 9)sWiLISULD
4. ¢



Question Number : 147 Question Id : 4771877639 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
During a laboratory experiment. a student accidentally splashes sodium
hydroxide solution into his eye. As a science teacher. which of the following
would you choose to wash the eye as the most appropriate first-aid treatment
for this eye injury?
Crramars LU uflGsrsemarullsiir GUTSH p(H LOTEMTEUSISHL I & GITEwT 50
sD6lFwsrs sTAGFTLTS Slrsuh GlsHssiall L. alsheprear @ Ffflwrrer
BrISsT Llsiteumeusirsummisit sThHl GlUTHSSWTET pSISallF FalFamFsnius
G5 ey GlFIIgl HsusmIsHL I HaTensnTds H(1pa|ad TSsiT

Options :

Weak sodium bicarbonate solution

DD HmDES GFrigwd uGwr sTiGlurGsaT Slrsuib

1. %
Strong sodium bicarbonate solution
sf flwwrar GFrigwib uGwr sTuGsTl Flrsulh
2. %
1% boric acid solution
” 1% Gurms gflsvs Hlrsulb
3.

1% hydrochloric acid solution

1% sman@GrrEGerrils 2ulsvs Slrauid



Question Number : 148 Question Id : 4771877640 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s NOT 1ndicative of the hypothesizing skill?
LilsiTsu Heusrsun misir sTHl H(HHICHTT Fmemars FnLiLlLsilsvsmso?
Options :
Formulating questions which lead to inquiry
Cxsrallssmsr 2_HaurshFH s suTrmilaysE B (HF ClFsn
1. ®
Using the senses to gather mformation

GlFi1F] CxallssLl LsvsiTHemsmLl LILSTU(RS5I560
2.¢

Identifying variables for an experiment

CETHmMaTS5TS WTH ST s L_ W TSTLD 5T e Hs0

: Yes Display

Attempting to explain observations or relationships in terms of some

principles

Flov Gl TsiTemSHerisiT g LiLsnL_wilsh 2 HNICHETESHLF6T 9sDs0S
GlaTLiysamer allsuflliusn@ Wwwns GlFiissd



Question Number : 149 Question Id : 4771877641 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following would be the most suitable strategy to introduce the

topic ‘Communicable Diseases’ at upper primary level?

Lilsarsu meusmsum misit GLost Blsmav sugliysefisy Glsmhn Crrilssmers N 551
Y UpsuuBSsIusDE Wsab 2 b5 2 55 51517

Options :

2. ®

3.¢

4. %

Provide a definition of Communicable Diseases and introduce the concept
by lecturing.

Garhm allwurglsgmriu alarssd a5 9F6T SHEMESE  FHDS55
allflsysnr GlFili%Hs0

Arrange for a doctor's prescription pertaining to a communicable disease
and hold a discussion around it.

D (HSHIUTST DHEHIF FU_(RSEH aTHUT(R GFizg GlsTHn CHril
Glgn'l_ri'urraséi assug_'igjfm.ru_ln’@gsij

Hold a discussion on various communicable diseases, preventive measures
to avoid their spread and their cure.

GlsusuGaum GlsTHN CHTilsmersd SalliiLsnNSTaT suldlLpsn DH M STILLD
Sjsmad LITeYHemsvs $HILILSI, (HMTOTSHH0 FHSSHID S0BSIem ruT(HH60.

Showing short duration video clippings of various communicable diseases.
measures to prevent and avoid their spread.

Glausi Gsumy GlsTrHm aflwrslssr, gaunsnnsd $H\EFHW il psnmSsir
WP Bsmel UTeYSmevdS HHH60 oS WesupPinG i spafliuLib

surTiilevrss STL_(HSHsL.



Question Number : 150 Question Id : 4771877642 Question Type : MCQ Option Shuffling

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the open-ended question from the following.

UlsiTsu meusmsunmisit Fnhs Blsmevd Cxsirallsemeard Hsr® Liligssayib.

Options :

Humans can digest cellulose. Yes/No

waflsTsarmsy blFsvaGarsnsd GlFflss iy b [ F)svsme

What are bones made of?

sTEUMMTSL 6TAVIDLSH6T 2 (HsuTH ull(HésHlsirmesr?

39

Collagen and Calcium phosphate

S 6Tl LTHID ehmiib FTs0F Wb ursnGuL

. Caleium and Sponge

STs0F WD WHDID SL_HUEHF

. Sponge

HL_MLIEHF
Caleium and Ferrous sulphate

STs0F WD HDID 36LTs FOGLL

What would happen if humans could fly hke birds?

esl BT H6T LNemeusmaTL GLITs) LUMBHST6D 6TEITET BHL & (FHLD?

1. ®
2
3
4.
2. %
3.9

: Yes Display

On a scale of 1 to 5 points, how likely are you to recommend Biology as a

subject of study after 10t class?

1 wpasv & yeiraflssr gL mflw sridlsb gysmailuilst 10 gyib sugndng

Cusd 2 _uiliflwensy spif UTL LTS LIgHS B BIS6T sTHSLI LsiTaismilLs

uflbgienrss ail oy el TssT?



